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1 0 litres 4 0 litres

of water to make ona sheet of of water to make one slica of

PAPER BREAD

140 litres 1 0,855 litres

of water 1o maks one oup of of water 1o make one palr of

COFFEE JEANS

1,300 litres | | 15 500Htres |

of water to make cna kilogram of of watef to make one kiiogram of

120 itres

of witer to miske one pound af of water 1o make one glsss of
PLASTIC WINE

7 0 litres 80 litres

of water to make ona of water per doliar of

APPLE INDUSTRIAL PRODUCT

Image courtesy dBM Smarter Planet
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More stars, More savings
Today’'s energy wastage is Tomorrow’s energy shortag e
Energy saved is Future saved
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